N & 0l & AF S & M M

20229 = =0l &t 2BH

A REWEDY
A Hsus g4 XA
o9l DE NFAIL BB EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
wEHFH M 6,567,586 7,577,918 A 1,010,332
thsns 84 N 1,502,160 1,502,700 A 540
wnE AL &= 1,502,160 1,502,700 A 540
&t A 1,502,160 1,502,700 A 540
401 Al HIZ 2018 1,502,160 1,502,700 A 540
01 A& HI 1,500,000 1,500,000 0
O Xt & A4 (L=350Km) 1,500,000, 000& * 14 1,500,000
03 Al 2 THHI 2,160 2,700 A 540
OAIE = HHI 2,160,000 » 14! 2,160
SES=SH A 2 150,000 75,000 75,000
BF2E 2ENE 150,000 75,000 75,000
3 248 MHEXNE 150,000 75,000 75,000
301 LEM = 150,000 75,000 75,000
1224 = 150,000 75,000 75,000
O3 2= 150,000, 000& * 14! 150,000
WREs(nsSsH ) 4,830,000 5,915,657 A 1,085,657
WEHHX = 4,443,000 5,500,000 A 1,057,000
HWEAHHXES(LEMSESIH 8&E2) 4,443,000 5,500,000 A 1,057,000
701 JIEtSI HSHES 4,443,000 5,500,000 A 1,057,000
01 JIEtel HE &= 4,443,000 5,500,000 A 1,057,000
ONSALELEINH HES 4,443,000
D MAA S AKX 2 2,100,000, 000& 14 2,100,000
D3YFNE X4 EX MY (SHHS 920)
1,143,000, 000& 14 1,143,000
PusSHtEAIEE £X ¥ FH
1,200,000, 000& 14 1,200,000
RSN 387,000 415,657 AN 28,657
Xl 2 X &b & 387,000 415,657 A 28,657
311 X+ S 01 Xk &k & 27,000 55,657 A 28,657
01T Al -2 - 2XNSHLISXHL S0 X4 & 27,000 55,657 A 28,657
Ousd=ZdH X IJHESTAEL X 0L
&t g 27,000,000 =14 27,000
601 XL SJAS&& 360,000 360,000 0
01T Al -2 - 2XNSNHLISHLSIS4E 360,000 360,000 0
OuUSZEEHH & UNESSEAYL MUE =
ot g 360,000,000 » 14! 360,000
HH2IYZH (nSEHH D) 85,426 84,561 865
AU (S A ) 85,426 84,561 865
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